BF 100m REEGTHE)
[148] ( +0.1 m)
17T E & 3 (e -5 5)10. 58
2[ 3131613 F & f 1 (k- #EHE)10. 60
3[ 4121895% 3 T F& 3 (REEK-H£)10. 61
41 2151017 JF 1A 1 (WkvE K- =) 10. 81
5[ 112670m7 H H & (TeanAgaiN-7$)10.91
6 5]2183%k vvAT/v/EE 4 CREEKR-#HE)11. 41
[ 6]2197 8 &~ K Mt 2 CREEK-1& M) Ri5
[ 811161 5 & /5 2 Gl K- 54l Ri5
[3#48] (  -2.0 m)
10 41510037 i 48 ¥ 2 ORI K-£5E)11.12
2[ 6] 306 N FI K (RUDOLF-f#)11.23
S[ 1T1134HE B F& A 3 Gl K- %#E)11.27
41 311127k 11 # A3 (M K-#5A) 11. 40
5[ 5]107648 & i I 2 GFEKRRE- 1K) 11.49
6[ 2146764111 2472 3 (fERfkE-5%) 11,50
70 8] 3014 B Fo A (UNITE-%%)11.57
[ 7] 16%F AF & K2 (HfiE-HE) Ri5
[548] ( +1.5 m)
10 4] 804711 BEKEH 2 (EF#HA-HA)11. 03
2[ 51557078 AF 4F @k 1 CEEX-HiA)11. 11
3[ 7130604 ¢ FLEA 1 (FEXE-HE)11.15
Al 6]1282% #E B2 = (TewnAgaiN-TE)11.19
5[ 8]12614E 1 I (i-Link-#E)11.19
6 211045339 )11 S BH  (NUBS-#&/I)11. 21
T[ 3]3264%F & & #F  (aIIEG-H&ID11. 32
8[ 1158994 A it 25 1 (RFEK-HE)11.40

[7#8] ( -3.2 m)
10 6]2772F0 W L& 2 (MEFRHE)11.19
2[ 3]4654%kKH BIH R 3 (EWlERA %) 11.35
3[ 7INBTHER] FEsb 2 Glvek-#%)11.39
4 8]46674% Bk fE & 3 (EWRA 5E)11. 48
5[ 2]16223#%% - & —  (RMKEEl /5 11. 63
6[ 512777/ ¥k BE A= 2 (WEFK-HE)11.63
[ 1150921 ft 4 3 O\#imE-5F) Ri5
[ 4131640 & 3 A 2 (ot 5% Ri5
[9#8) (  -0.9 m)
10 81304400 e 48 3F 2 (FEXRF-HE)11.16
2[ 6112104 (L 5L BH 3 (IlahivE-5E)11.30
3[ 5] 11{f B Ji 2 G- E5E) 11,33
41 2111070 gy e K2 BFEKR-ZKH)11.37
5[ 413152F % 22 A3 (llndté-sE)11.47
6 11492385 N & #f 3 CHHTEK Hx)11.66
70 31509142 A gk 8 3 OUliEE-#%)11.99
[ 714919/ | #k A 4 (ERIEL-BE)) Ri5

2[ 21218474 £f
3[ 812202JF H
4 1]5901 %% =

[ 3] 543H I

[ 6] 3215 &
[ 7] 310% ji

1[ 61490074 Hy
2[ 5]1542/)5 #K
3[ 8]5140% H
4[ 7] 67048 &
[ 17110696
[ 2]1163% O
[ 3] 712 = iy

10 2]5739'% &
2[ 4]4842¢ H
3[ 5130427 1T
41 7]1168 1L H
5[ 8114195 74
6[ 6]1262H
70 1] 303H
8[ 3]1426+H #f

K —2 (K- B 11,

BE 4 (CEEK-HE)T
W3 (BERE HE) 1.
B A2 GRfR-5E)11.
BE 3 GERIE-#z)) 11,
(i-Link-%E)11,
(UNITE-#%)11.
A CRFER-5E)12,

KA 2 (B R- & F) 11,
FAE1 AR -HE) 11,
g BE 3 Ol K- i) 11.
IF= ¥ 3 (fEmkd
(i-Link-#%E)11,
RO Bt - R 11
B EXK-#HE)16.07
(SKD-F#)xRi5

1[ 5]1849%% H
2[ 415112 7)1
3[ 811124K 5%
41 11466115 A&
5[ 6]1253%% K
6 31119742 55k
70 2]5907RER T £ & 1
[ 712066 /7 1L X K

1[0 6146594 A K 2 (fEmkise-6ik) 1.
20 11 8014 & 32 (ERFHRA-HA)11.
3[ 5J467THx Iy L #E 3 (EWkd

40 7J1101 R K
6[ 3149295 %

8[ 8]4668HT M

10 412194)5011 35 K0 3 GRIER- 11A)10. 72
b5 Ak 4 ORFER- &%) 10.73
% K 2 CREER - ##i) 10. 88
N1 Gk #fi) 11. 04
T A7 3 (BERA 5T Ri5
(JAWS -5 %) Ri5
(FH - 2~ i) R 45
(UNITE &%) R3%H

BN 2 (RRTEARRE)11.26
(HERAC-HE)11.32
O 1 (REFR-HE) 11,41
(BEKTF-#E)11.46
(IETER #AN) R 35
2 (BRPE K- W) KR35
(SPRINTEST-EAI|) &2 35
(SAC-#A) Ri5

36
37
43
95
57
67
81
05

23
24
24

.37

40
49

10
31

.39
K2 BRER-FEE) 1.
5[ 415072 VET <7 2 O\iFEE - HE)11.
MR 3 CGRRTER ) 11.
70 21316154 (b & 3 Jilnda-wE)11.
BN 3 (EBfRE-5E) 11.

49
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A
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[11#8]) ( +1.4 m) (1248 ¢  -1.1 m)

10 6]4657P9 B b 2 (Emefis %) 11. 08 1[ 6148967 A ¥R K2 CEER-HiA)1. 21
2[ 412776 F H & b2 (MEFRHE)11.12 2[ 5155684 1 fd K1 CEEKA-BEE)11.35
3[ 8] 542f H FEF| 3 (mEpA-HFE)11.15 3[ 8114555 1 I % 2 (BT k-%%)11.45
41 2] ba4E i i & 3 EERAHE)11.17 40 7] 20 gk 2 (e -#E)11.73
5[ 5]1464p5 H & 5 (BloonP]T4%)11. 33 50 1113184452 mW &  (7)v7aMERID11. 89
6[ 712873#A hE =} AH 2 (RRHtRE 45E)11.34 6 211207 H #F & =+ 3 (IlnmvgE-&%)12.05
70 3] 251 FAF FRBER  CRkEd- 5m) 11. 56 [ 3] 180 (L 4B fi =} 3 (THBKHR) Ri5
[ 1] 254 HH  He  (REMIX.ACHE) Ri5 [ 4160974 [ W& 4~ (SPRINTEST-WEI) R 35
[13#8] ( -1.6 m) [14#8] (  -3.0 m)
1[ 8]3644FE ME 5t (As h-ffE)11.58 1[ 811030 | 5 42 Bk - #5 £)11.50
20 71125945 &K #= A (i-Link-#%)11.63 2[ 5]3045/8 B A 72 2 (BiE%m-BE)11.66
3[ 6]2769H AF 1= pk 3 (MEFK-HE)11.63 L el Ay 3 (horifs &%) 11. 86
41 113033 F B f K3 (FExE-HE)11.67 AL 7] 257 ¥ 221 (& -5E)12.01
5[ 5]11357% i Z3 Gl K- FFE)11.77 50 1] 6w B ¥ 3 (Hfim-#E)12.16
6[ 3] 934 L1 %5 — #E  (BloomP]T5E)11. 81 [ 2] 687'=%F +—BH (7)-20/ V5% RiG
7[ 2150874 H- & & 3 (UlE&E-#5%)11.85 [ 3124305 A B2 BE\E1E HR) RiG
8[ 4]15560% & 15 E 1 CEEK-#iA)11.95 [ 4]1653%% 4 + (STAC T#)XRig
[1548]) ( -3.3 m) [16%H]) ( -1.0 m)
10213173V iy o ¥ 2 Jlndem-%E)11. 75 107) 884%r 8 = K (SSAC-#%)11.33
2[ 3]5207H A = K1 BFEK-#5E)11.76 20 3] 1T H F K2 (HfisE-#wE)11.64
3[ 4] 5% My Zn #E 2 GRfns-£55)11.88 [ 2] 111248 &5 2 K2 BFEK-#5E)11.67
41 1] 632747 48 FHIK  (7V-24405%)11.88 41 6]3151 58 (1 g =F 3 (llndts &%) 11. 71
5[0 8] 7514 3% #h HE 3 (RE0g%ET-45%)11. 89 50 1J11097L ¥ £ -2 (BFEKR-F)11.73
6 5]1040 (L FEZAT 1 (k= - Hy £)12.02 6 412416+ & 1% F3 (AENEFHE-HR)11.75
70 713046%k i 7R K 2 (ERE -%E)12.02 70 8] 938f& i %= K (BloomP]T-H%)11.79
8[ 6]55221h A g2 (BrAm-HE)12. 11 8[ 5]5523 11 H 2422 M, Am-E)11.86
[1748] ( -1.7 m) [18%8] ( -4.5 m)
1[ 8]1510& & H F5 3 (Ukflna i) 11.55 1[ 8]4547# H 3 (GHIF-HE)11.91
2[ 2]16794 (LI z& &= (BHEKFA-%E)11.56 2[ 4]46794% 7 P FH 3 (EWEXE-5%)12.00
3[ 513175#8 & Mt 2 UlnlksE-#HE)11.65 3[ 6] 268 pEE At GEAREH HR)12.23
A4 6]3754%5 H & &1 (BFEFm-%E)11.66 A[ 5]4656%F 1% P K 2 (EWEFRE-5%)12. 23
5[ 3124138 A 723 (Wi\EFE %7)11.85 5[0 1112526789 BEOK (BRiiifEd - #4)10) 12. 25
6[ 7]14073%% &K B2 GifiFhis-%%)11. 86 6[ 3] 7% )1 H A1 (GHfIE-55E)12.30
[ 1135098 HE BF  FH K 1 Coii K- %) Ri5 [ 2130407k H K Fnl GFEXRE HE) Ri5
[ 4] 830% M H A (BiferACHE) RiG [ 718080 (LU & — (TRAINIHik) Ri5
[1948]) ( -0.2 m) [2048]) ( -0.9 m)
103] 7461 w8 CREEER- 3R 11. 65 1[0 5] 185K H HETE (SSAC-#%)11.51
2[ 5]375380 )il #E 1 GFEXmE-#HE)11.67 2[ 31465885 K 5 2 3 (EWfEkm %%)11.55
3[ 71430348 = B K3 (EMHEE-HE)11.85 3[ 1] 70541H Z—B8  (REKRRE-®A)11.77
4[ 8]5382mi M ¥ L+ (EHvar-2Fi{)11.91 41 6] 2758 K 1 K (BloomP]T-%%)11.82
5[ 4] 112i A YA 3 KAP-5%)12.02 5[ 4114944 jg&  #% K (KEKAC-#%£)11.91
6[ 2] 94k & #  (THEREH T#)12.06 6 8]4652/ A B K2 (EWixA-%%)12.01
7[ 6]4670 KJ1 HEZ I 3 (fewflixs 5%)12. 06 [ 2132467 HX & 22 CLHK-HE) RiG
8[ 11507307 M H& H 2 \#imisE %) 12. 52 [ 714659 7 H-H BHEH 3 (B0 E) Ri5
[2148]) ( -1.6 m) [2248]) ( -0.4 m)
105128520 0 BE 1 (RAGLREHE)11.77 10 1017357 % Kt 1 (& -#E)11.82
2[ 4]170137 B BB (OGS-#E)11.79 2[ 6] 30045 MW 1 (FKRF-TH)11.94
3[ 6]574544 iU B K4 (WFik-Hm)11. 84 3[ 2]17204k  F5 H 3 (R -#5%£)11.98
41 3135724 B 2 R\ 3 (EANfE- 5 £)12. 02 A[ 3] 735+ 1L M B CRURCBEH-HUR) 11. 98
5[ 1]4664°% & B3 (EWExA-%%)12.07 5[ 515407 (L M # B 2 FBH#kE %E)12.04
6 7]2875%% ik P& A 1 RRELRR-BE)12. 87 [ 4]132457% 1 f2 Gk -5 E) RhEE
[ 211109 fiE et (VWzvA-#k)) Ri5 [ 7110385 H AF 4 & (WAVETC-BAI) R 35

[ 8112095 J5it  Fn A 3 (IIAMvE-5E) Ri% [ 8] 39°F [ B2 (FHREKHR) Ri5



[23#2] (  -1.8 m)
1[ 3]2074%5 )1l #ME4E  (SKD-TF%)10.97
20 1] 858/ k5 PR A 2 (7aE7/25E) 11, 52
3[ 4115188 & 3 3 (ifika%na #7)11.63
41 613404 7% A — 4752 (RR<Af-25H) 11. 81
5[ 5]3755H & T &1 BExm-HE)12.06
6L 2] 194 H P (CPALETTERN12. 11
7[ 715524k £ K Fn2 (Br e -5%)12.16
[ 8] 457 H A — (EVOT.C%%) Ri5H
[25%0] (  +1.3 m)

10 21450678 % g & 2 (BARE 5E)11.85

20 6] 3K E%it:a (fnE -85 15)11.93
3051  2fh L % th 3 (Gl -#E)11.98
40 3] 8274 H & &3 (IEFRT-5E)12.06

50 7] 607 K5 #AKRR 3 CalifEs #E)12. 22
6[ 8] 167L)I K Bi24 (B5/77 4%)16. 83
[ 1] 21/ )i 2 ERJ77-5F)Ri5
[ 4] 61 A HE  GEVAI-25F) Riz
[274#8]) ( -0.8 m)
10 811907  #f 4 3 (BEMA+T-#%%)12.09
20 1] 24K &2 (Pﬁnm T E)12.14
3[ 213762/ & FnwR 1 (EXxE-#%E)12.45
4 415650 4 L 1 ()lluﬁﬁ%'iﬁi)m. 64
50 3IMT1% g Sk # 3 (InkEAT %) 12. 65
6[ 6] 54 BEZJr 2 (llnfd-#E)12. 67
[ 518392 5 48 Ik 2 (HBEEELLT 6L RiG
[ 711029%% & BG K 2 (k& - B £) R35
(2948 (  -1.4 m)
10 7] 314% % X (UNITE#%)12.14
2[ 612862/ 7 3@ N 2 (RREERE 5E)12. 20
3[ 1149204 B 2 A= 4 (FRIEK #%)12.23
40 2]  5/hJF WAL 3 GHfnm-Hr£)12. 33
5[ 5]4306%F 1 75 K1 (s -5 %£)13. 28
[ 315652/ 1 f& K 1 (IIAHE-BE) RiG
[ 4] 842F H f£ K3 (HIFEF-HE) Ri5
[ 8113744% & Wl GiEvA)-A4F) Ri5
[3148]) ( 0.0 m)
1[ 5]4658 88 1 & K1 (EitExa-5%)11.86
20 1] 2375 gk ST M4 GROARER;- ) 11. 90
3[ 71395871 M ﬁﬁ 7R 2 (R K- #E5) 11,91
41 4] 904=ES HARK 3 (KIFEH-#E)11.95
5[ 813959% H #& Y2 (@R A-HEH)12.14
60 211903 (L =  ## 3 (BRMA+-#5E)12.32
70 6]3037 H %% (aEkEm -5%)12.35
8[ 3] 852iL A& i (WinkiT4E) 12. 40
[334#H]) ( -3.7 m)
1[ 61303185 A K BB (G ERER-%E)11.96
20 7] 11HEI EEKEA T BloonPT5%)12. 24
3L 8] 2731 #E ¢ K (BloomP]T%%)12.26
4[ 5]30587% ¥x K Fl2 (BExm #E)12. 40
50 1] 868=7Y> 7 2 (NiEt)i7a48)12. 47
6 4]43087& H #h B 2 (fE e -85 £) 12. 56
70 2110223 J&r (£ B (IEmER-#2))12. 59
8 3]13047/N % 1H K2 (BExRE-HE)12.74

(24%8) ( -0.9 m)

105] 2681 = # G-

4[ 6] 1727 I
5[ 2]1714%8 &
6[ 7123113 ¥
70 414077 + &
8[ 8] 8RO
[26%8)] ( -1.8 m)
1[ 2] 374 %
2[ 61167611 H
3[ 3]316248 )1
41 1] 27108 =5
5[ 8] 1844 ji#
6[ 5]124844 M
107 17T+ &
8 414560 L 7

[28%H] ( 0.0 m)
10 8] 2231 H
20 3] 2454 k%
3[ 713035 AF 4L B3 GFE%dE
A[ 41171585 H
5[ 6] 811/ ji
6[ 1] 2198 H

5 2 (i

W R
?HE'T

jllj#

K HE3 HWFREP-HE

[ 5] b4k K

[30#8] ( -0.8 m)

104113684 £ & CRRHEH "
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3[ 2]34134Ls JA B8 2 (Bffiam A

41 8]12356)11 b /& s (Bl t%wf JI

5[ 3]4068#K H 1E #f 3 (ffhia:

6[ 1] 6084 By K HE 3 (AR iﬁ
[ 5] 7624t i /A (OGS -#H=E
[ 7]1993%h Ht 55 /v 4 (BifER-HE

[3248]) ( +0.3 m)
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3[ 7110250 ji# Eafﬁz (B =5 -
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70 1] 1310

8[ 21190211 j*
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21 3]

12.
£)12.

\/\/\/\/\/\/\/\/
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5[ 4] 862f k& % —
6 2135833/ ~—y ZHE 2 (BEE-
70 61285718 &k Mt &

[ 8145157 O R EH 1 (BMAKE*

777@/5%) 11.
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[ 2]4678%% B 0 1 (ENERE-5E) RI5

& 2 O\BKEH-5E) Ri5
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12.
12.

12.
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BE)12.
A E) 12,
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(U B R 12,
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667 A HEHE 3 (\EARH-5E) 12.
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[354H]) ( -1.8 m)
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2[ 3]23128R &
3[ 8]54084A A&
41 21 775+ JR L4
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6[ 6] 1857 I
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[37#8] (
1[2] 14ER
2[ 5]
3[ 1]
41 6] 9374 11 5

-1.5 m)
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[39%4) (  -2.9 m)
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70 1]56417%5 i
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[4148) ¢ -1.1  m)
10 4] 7013 &
2[ 6]2863= I
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70 2] 1363488 H 15 A
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[43%8] ( -2.5 m)
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2[ 411162 = i
3[ 6]8408/) #
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6[ 3] 183 &
70 8] 8124 1%
8[ 21355344 ji&

[45%48]) ( -1.9 m)
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H FH

TL 7182108 AF 5 f8f
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5[ 4]4079%% 1 =z 2 (Fhim &%) 12.
6[ 713554J7 H O HE 1 (BELAR-HE)13.
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— F 3 (BRAT-HE)12.
E H 1 (ERlExRE5E)12.
B OR3 (BHE-5E) 12,
k2 P55 12,
A2 (IpBEd-H5E)12.
N2 GBEREHE)12,
— #5 2 (InmvE-5E) 12,
R 1 O\ R R E)13.

Z= A 2 (RREHH-5E)12.
B B2 RRELRAHE)12.
I K 3 (BRAT HE)12.
& 222 (FhiyAACT5E)12.

o GEEXE -HE)12.
Z& B 1 O0AaEtireas) 12,
(SPRENTEST-#5I) 13.
(W70 REE775E) 13.

ok 2 CRATHR -5 E) 12,
g L3 (InEEAT5E)13.
(HR AR B2 HiA) 13.
Hm 2 (GERP-HE)13.
(EVOT.C#%)13.
B2 BPP-HE)13.
g B2 2 (FhiyAACTHE) 13.
KE1(BELRE-#F)13.

a2 ERE-HE)12,
e B2 (BRAT-5E)13.
AT 2 (BB RF-HE)13.
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60 5119128Am/A K 2 (RRAAT-5E)13.
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12
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A
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10 713157/ 5%
2[ 511901 / 45
3[ 613579/
AL 8] 26 Ji
5[ 3124221 1
6[ 2] 39842 Jit

-1.8 m)

B3 (Jllnde-5%%E)12. 30
W 2k 3 (BRIAT-5%£)12.35
iE A 2 (FifEaE-5E)12. 46

1 GEfnE -8 E) 12,51
BETh 3 (W AT+E %) 12. 52
P92 (R -55E)12. 84
70 1130128 )11 47 & GaEREdH-%%£)13. 11

[ 415088k % 3= th 3 U\Mimim % E) Ri5
[38#] (  -2.6 m)
10 814513 W fd K1 (BAKE HE)12.26
20 11 872 &L K 3 (n7nkbifhin) 12. 31

30 4] 124 HIABA 1 (lifneE-51)12.59
41 6] 84in 3 723 (JIEFRT-5%)12. 81

B 2 (s -5 E)12.90
A1 (i - ) 13,12
A 1 (g - 5 E) K48
1 (EER A -5 &) Ri5

5[ 3] 13% %k f{&
6[ 7] 9L® &
[ 5] 28)7 [ [
[ 213933%% JIl A& W3

[40%#8] (  +0.1 )

10 4] 4475 H)I FFA 3 (RITRT-5%$)12.43
20 24T A fE — (A -27k5) 12. 61
30 1] 318% W & Jr (UNITE-%%)12.72
4[ 714548F7 B 3 (BHRP-RE)12.75
5[ 5] 904 il & 222 (IEFEd-51%)12.80
6 3] 44648 (L BE % 2 (RITH-5E)12. 81
70 6] 826 By fF 3k 2 (FIE-5&1)12. 91
8[ 8137650 M =g 40 1 (WEEm-HE)13.32

[42%8]) ( -1.1 m)

107] 3115 & i (UNITE-%%)12.34
2[ 3]3551HF H P IE2 (ELAA-5E)12.45
3[ 5] 18¥F & A& JE 2 (Hifns -£5%5)12. 73
A[ 8]4067288 ML AKEA 1 (ifnshim -%%)12. 73
5[ 411252%F B [ b 1 (Inggh -%%)12. 83
6[ 1] 642%% #F B (7=-2040%%)13. 02
7[ 61304855 it # f12 GiE¥m-%%)13.03
8[ 2] 125+ W JEE 1 GHEESHE)13.07

(44%8] (  -1.6 m)
10 41455757 )11 s £6 3 (BB R -5 )12, 71
20 1] 43085 A 1K H 2 (IHEZ %) 12. 86
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